
Set of nodes where every node is connected to every other 
node. Set of nodes where almost all nodes are connected. If all links would 

be present, the cluster is called a clique. There is no strict criteria for 
how many edges are required.

A star is when one note is connected to a set of mutually non-connected 
nodes.

Trees are hierarchically organised sets of nodes, like a multi-level 
star.

These are nodes that connect two otherwise disconnected 
components.

This is when two sets of nodes are not connected within 
the same set, but connected across sets.

Hubs are highly connected nodes, i.e., nodes with many connections. 

A path is a set of nodes connected to each other in a sequence. If 
the sequence is closed it is a cycle.

The bundling effect can make 
it hard to quickly identify hubs, 
but they are often connected 
to multiple bundles 

Paths are cycles are often 
visible as extended arcs.

Stars are often easy to spot 
from the nodes radiating from 
a central node like a palm tree

The articulation point

Bicliques are usually highly 
visible because they form two 
bundles, like a palm tree, each 
corresponding to the set.

Cliques in confluent drawings can 
sometimes appear star-like at a 
distance, but tightly bundled up 
close.

The bundling makes a cluster 
appear less dense than it 
normally would.

The root note
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